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~ .

= (Machine Learning)

“Machine Learning is the study of computer algorithms that
improve automatically through experience”. itchen, Hil, 1997)
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ZE¥ % (Deep Learning)

Al(A T &18E)
(%Hﬁ“fiA%#T X O EmRE LT, ) C,MW%E
BWRFEET LN ZORHEAVWTERX 7 %E <. —
—7, REFETCIIEESNICEEEZHE L, N
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Mask token: [MASK]
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Compute

0.181
B %

0.098
LT

0.067

0.033

0.023

Class probability map

(Redmon et al, 2016) https://huggingface.co/
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{51 (Object Detection)

YOLO Redmon et aI (2016)
ATV N EZICH BN EFRTERD

Class probability map

BT T O EBREN

fEIE 9 E] (Semantic Segmentation)

U-Net Ronneberger et al (2015)
LB L RILTE DR R

64 64
128 64 64 2
input
image | & » & oo output
tile s S
SR E S ERE

segmentation
map

12 < =& copy and crop
I“ — f' [ elle ¥ max pool 2x2
= ’ e 4 up-conv 2x2
= conv 1x1

I1 l ] : !fl‘l = conv 3x3, ReLU




REFE T OEBRENT

fE1E 9 E) (Instance Segmentation)

Mask R-CNN He et al (2018)
CEADF T 2 b EERDOIZ VT 4T 4 & L CHEESE

5% & Bk
DALL-E 2 Ramesh et al (2022)

input: “A photo of an astronaut rldlng a horse”
output: '

https://twitter.com/OpenAl/status/15117145455296143387s=20&t=wbHGVtVaHdWilHOhFPkylw
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palmerpenguinsi®d

TJRARY T

TRty bEED

# 01-01. Xy T —=YDA VR b=
! pip install palmerpenguins

ColablcA X b= ENTWRWy =2
I pip install ${/¢v o —2 4}
TAYAM—ILTES,

import numpy as np
import pandas as pd
import matplotlib.pyplot as plt

from palmerpenguins import load penguins

GENTOO/

CSTRAP/ APt

[1] Horst, Allison. Hill, Alison

# 01-02. RYFUT—LEy FDFHAL

penguins = load penguins ()

penguins.head ()

species island  bill_length_mm bill_depth_mm flipper_length_mm body_mass_g sex year

0 Adelie Torgersen 39.1 18.7 181.0 3750.0 male 2007
1 Adelie Torgersen 39.5 17.4 186.0 3800.0 female 2007
2 Adelie Torgersen 40.3 18.0 195.0 3250.0 female 2007
3 Adelie Torgersen NaN NaN NaN NaN NaN 2007
4 Adelie Torgersen 36.7 193 193.0 3450.0 female 2007

. Gorman, Kristen. “palmerpenguins”. https:

allisonhorst.github.io/palmerpenguins

pandas : 8FEIEZ A 7 F U

BERBEICEL L7472 Dpandasx > TH D

# 01-03. T—XDITE - JIEDH T
print (penguins.shape)

|
# HH (T8 (index), FI# (column))
(344, 8)

# 01-04. T—REBEDIEHRELEN

penguins.info ()

<class 'pandas.core.frame.DataFrame'>
Rangelndex: 344 entries, O to 343
Data columns (total 8 columns):

# Column Non-Null Count Dtype

0 species 344 non-null objectg{ Z0YOT—2OREHA ‘
THEHA —p—island 344 non-null object |

2 bill_length_mm 342 non-null float64 = N

DHD UV LY

3 bill_depth_mm 342 non-null—float64—| ?g_?%&gﬁ‘;f e

4 flipper_length_mm 342 non-null float64

5 body_mass_g 342 non-null float64

6 sex 333 non-null  object

7 year 344 non-null  int64

dtypes: float64(4), int64(1), object(3)
memory usage: 21.6+ KB




pandas : #FEIET A

T—R%R5%

Y,

bill_length_mm bill_depth_mm
# 01-05. BEDHDT — X% Series THA 0 %1 187
. ' . . 1 395 174
penguins|[ 'species'] ) 105 10
3 NaN NaN RIB{E
4 36.7 193
# 01-06. HFEDI DT —X %DataFrame TH A
penguins[['bill length mm', 'bill depth mm’1] [ | 3¢ 558 108
- - - - 340 435 181
341 49.6 182
_ _ =. 342 50.8 190
F—RICIERBENaN) A EENDFBELH Y s con .
* % @@l@{t%{@?)\?ﬁ{ﬁ <\:- b f)\ 6 {Ef%ﬁ?ﬁ _g— %) 344 rows x 2 columns
cZDOT—REETCIT(H LI ZHEIBRT 2 hEET S
/5\@ Lj: T\%ET[E % = i-— % %IJ BI/T\—\ T %) bill_length_mm bill_depth_mm
0 39.1 187
# 01-07. RIET—XDHIBR 1 305 174
penguins = penguins.dropna (axis=0) 2 403 180
penguins[['bill length mm', 'bill depth mm']] : 22; ;ZZ
339 55.8 198
# 01-08. index®Z=%ZiRYIE 340 435 181
penguins = penguins.re set_lndex (drop=True) 341 49.6 182
342 50.8 190
343 50.2 187
333 rows x 2 columns
o N [ J—
pandas : BFEIEZ 1 J)
T—X%ER5
" Adelie 146
- . *
# 01-09. 1=— 7 REROHIFLEHK [ | Gentoo 119
penguins|['species'].value counts/() Chinstrap 68
Name: species, dtype: int64
# 01-10. HEDERZELT — & &4
penguins [penguins|['species']=="'Adelie']
species island bill_length_mm bill_depth_mm flipper_length_mm body_mass_g sex year
0 Adelie Torgersen 39.1 18.7 181.0 3750.0 male 2007
1 Adelie Torgersen 395 174 186.0 3800.0 female 2007
2 Adelie Torgersen 40.3 18.0 195.0 3250.0 female 2007
3 Adelie Torgersen 36.7 19.3 193.0 3450.0 female 2007
4 Adelie Torgersen 393 20.6 190.0 3650.0 male 2007
141 Adelie Dream 36.6 184 184.0 34750 female 2009
142 Adelie Dream 36.0 178 195.0 3450.0 female 2009
143 Adelie Dream 378 181 193.0 37500 male 2009
144 Adelie Dream 36.0 171 187.0 3700.0 female 2009
145 Adelie Dream 415 185 201.0 4000.0 male 2009
146 rows x 8 columns
iy 52 & - A2 ] AND @ &
WHEHEIEET 5101, AEMCRHEITET 5 (1] R
penguins|[ (penguins|['species']=="'Adelie') & (penguins|'sex']=='male')] NOT : ~

[1] pandas THEEEMH DAND, OR, NOTH 5475 HH (#IR) https://note.nkmk.me/python-pandas-multiple-conditions/




pandas : #FEIET A

pandas TOPIYE|

# 01-11. pandas COMUBEE

penguins['bill length mm'] + 1
penguins['bill length mm'] - 2
penguins['bill length mm'] 3
penguins['bill length mm'] 4

77

EE PR L W DB

wllengty

IBiII depth

Note: In the raw data, bill dimensions
are recorded as “culmen length” and
“culmen depth”. The culmen is the
dorsal ridge atop the bill

# 01-12. fb3|& OMANEE

penguins['bill length per body mass mm/g’]
penguins(['bill length mm'] /

penguins|['body mass g']

penguins.head ()

pecie island bill_length_mm bill_depth_mm flipper_length_mm body_mass_g sex year bill_length_per_body_mass_mm/g
0 Adelie Torgersen 39.1 18.7 181.0 3750.0 male 2007 0.010427
1 Adelie Torgersen 39.5 17.4 186.0 3800.0 female 2007 0.010395
2 Adelie Torgersen 40.3 18.0 195.0 3250.0 female 2007 0.012400
3 Adelie Torgersen 36.7 19.3 193.0 3450.0 female 2007 0.010638
4 Adelie Torgersen 393 20.6 190.0 3650.0 male 2007 0.010767
. 0 — S — '
pandas . / J 7
matplotlibZz AL 7= A] &1k
. 1, v <
# 01-13. matplotlibZHW/=EHKTOREKRL
plt.scatter (penguins['bill length mm'], penguins['bill depth mm']) (x,y)

# 01-13-1. B TOREKEL

x col = 'bill length mm'
y col = 'bill depth mm'
plt.scatter (penguins[x col], penguins[y col])

plt.
plt.
plt.

xlabel (x_col)
ylabel (y _col)
show ()

20
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55
bill_length_mm

scatterdx - yOEFIUN DB

s EOYAX(FT7HILME: 2

0)

marker: ¥ —H —DOF: “0”, “x”, “\")

alpha : ERAE 0(GERR)~1(FEHA)
¢ BEAILERELZEDRS

plt.scatter(
penguins([x col],
penguins[y_col],

c=penguins|['body mass g’'],

)
plt.colorbar ()
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pandas : BFEIEZA 7T F VU

matplotlibZ BB UL 7= A] 181k

# 01-14. BZ & DEK

x col = '"bill length mm'

y col = 'bill depth mm'

adelie df = penguins|[penguins|'species']=="Adelie']

plt.scatter (adelie df[x col], adelie df[y col], label='Adelie')
gentoo df = penguigs[pegguins['specigs']=;'Gentoo']
plt.scatter (gentoo df[x col], gentoo df[y col], label='Gentoo')
chinstrap df = penguins[penguins['species']=="'Chinstrap"']

plt.scatter(chinstrap df[x col], chinstrap df[y col], label='Chinstrap')
plt.xlabel (x col)

plt.ylabel (y col)
plt.legend()
plt.show () 20 4 .
£
EJS °
o
UI
F 16 -
® Adelie
14 1 Gentoo
® Chinstrap
3 a0 3 50 55 80

bill_length_mm

14:500 > B R




pandas : BFEIEZA 7T F VU
B O BT R

WP BETINEEBETDIENCFETES - LT VLD ICEREA1TS
SENFEF T — 2 OFHE(=0) L 98U(=1) 2R 2 21BELE1TD

—HAERLMICEEDL TV RHEANT LB T 2N TED

X — U
Z = — u: XD¥EHE
o o: XDIRAERE

# 01-15. fREAL

mean bill depth = penguins['bill depth mm'].mean() # FiIE

std bill depth = penguins['bill depth mm'].std() # EAERE
(penguins['bill depth mm'] - mean bill depth) / std bill depth

AL

scikit-learn : B >4 77 U

sklearn.preprocessing.StandardScalerz F3 UL 7= 1224t

scikit-learn (ZEEM B CAHAWE 7L T Y ZLDEFADRAST=54 T 5 Y

# 01-16. scikit-learn TOIZ#{L
from sklearn.preprocessing import StandardScaler

standard = StandardScaler () -
standard.fit (penguins[['bill depth mm']]) — Bl L CDataframe B T5 X 5 UEH
standard.transform(penguins[['bill depth mm']])”

#01-17. BB LT —2DEM
columns = [
'bill length mm', 'bill depth mm’, 'flipper length mm', 'body mass g’
]
for col in columns:
new col = 'standard ' + col
standard = StandardScaler ()
standard. fit (penguins[[col]l])
penguins[[new col]] = standard.transform(penguins[[col]])




scikit-learn : 1

sklearn.cluster.KM

UHFEE A4 7Z Y

eansEAAW= T R&ZY T

# 01-18.

columns [
'standard bill length mm', 's
'standard flipper length mm',

scikit-learn®KMeans TY 7 AX Y 7
from sklearn.cluster import KMeans

tandard bill depth mm',
'standard body mass g'

]
km

km.fit (penguins[columns])
print (km.labels )

KMeans (n_clusters=3, random state=42)

sklearn.cluster.KMeans® T ZE 45|44

n_clusters : 7 5 2 & —#(E.0E)
random_state: seed{&
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205 ZAOATVRT 4 v 7ER
FHLI-WERIRIDEXR%Zp, TOEI Y
@?éﬁvz&%%t?%.:@ivfwﬁﬁ
EANARNY ML x, DIFFERM TR &,

p n
log (12=) = fo + fuxy + -+ Bt = ) B
1 P i=0

7 2 A9¥8

AYXT 4 v 7EIEDH

HHABOMBBRICH T 28K - NEERDE
RO DERERD I,

ZoEFICAVRT4y7ABERAVNVTINE
TOMEEERE &A1 - REROT—2%2HWT
NI A—ZHEELTARIL LRI UATTH B,

A
BfREL, i AH AR b ILDRTTHL % 1
Z@Eﬁf_ﬁ_—épf%‘ﬁ?’% (‘.’., 1 % SR 65%
= s
p 1+ exp(— Z?zoﬁ,-xi) 485
LY, ZOREEE BIERERNT & o
BAHTRICL > THREROEREPE RD B, " 07510 15 20 25 30
S ag R ) (R D)
%05 ZADFELT T XK & DRI
a =X Bixi & B L, => 20H 1£65% D T8
O
‘ 25'{ exp(a;)

& Bt % (softmax).
INEREHEEERICL > TREBERD 5,




scikit-learn : BB >4 77V

BigE2 730 L0 70—F ¥ — b1]

scikit-learn
algorithm cheat-sheet

classification =
approximation "ot

Ensemb] S,
Classifiers NOT
WORKING

regression

__Lasso__
ElasticNet

YES

few features
should be
D important

NOT
EH WORKING
__GMM___

NO

@~

ves S categories

clustering Y \"":”y
no

<10K
L sampies
NO

YES

dimensionality

7 tough gl predicing 4
1@ @ reduction

[1] Pedregosa, Fabian et al. 2011. “Scikit-Learn: Machine Learning in Python.” Journal of Machine Learning Research
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HEmbd Y FE 77 XD

HT 3 B e BEEICE R

# 02-01. speciesZEBHEICLE
from sklearn.preprocessing import LabelEncoder

labelencoder = LabelEncoder ()

. . , L labelencoder.classes_
labelencoder.fit (penguins|'species’]) TEBEDNEE ICTTOERD A - 7list & BN
penguins['label species’] =¥

labelencoder.transform(penguins|['species'])

# 02-02. EHED bspeciesl|lPEE
labelencoder.inverse transform(penguins['label species'])




Hemdp ) FE - 77 A9HE
Hold-Outi& EE

BRFETT VO ZREE Y 27T/ XT A —ZHEZIT S 7 — X (train),
NI A—RWEEITORWT —&(test) & LT, /¥ — =
MEEEH M A testT — X TIT O RIS E.

# 02-03 BFEHT— LA T —XICHIT S

from sklearn.model selection import train test split

columns = [
'standard bill length mm', 'standard bill depth mm’,
'standard flipper length mm', 'standard body mass g'
]
penguins X = penguins[columns]
penguins_y penguins|['label species']

train X, test X, train y, test y = train test split(

: . . 20%DT— K%
penguins X, penguins_ y, test size=0.2, random state=42 testF—& &4 2
)
HBEdD Y FE 77 A0
~ — . = — Ege==
OY2T7 4y 7EIBERBWY 7 R4 & REE M
# 02-04 APRT 4 v 7EIFETDE Y 7 AN
from sklearn.linear model import LogisticRegression
model = LogisticRegression(random state=42)
model.fit (train X, train vy) del dict b
S = - . model.predict_proba
test predictions = model.predict (test X) TR A & ERE
AHfER S L CEHEIETD 7 7 R EFRZ 7 A B ERE THEEFET LT
ﬂ%‘JIEﬁ:FLTh\Z;b‘O)accuracy(IEﬁ R) CTHER iﬁEbm\
Bz, 1%Hh 7 7 R1, 99%H 0 Z
# 02-05 FEEEEHIE (EMEX) 220BEW, £COT 2T

7\2t?"}E'J'd'ﬂti‘99%®*§f§ﬁﬂ:'.%ﬁ)“,
77 RIDBENCR 2EENH S,
ZDFHIERELIN, 7T R1E
print (accuracy score(test y, test predictions)) FRLHDOD S BERICY T X1
DEIE % BAE (precision), 2D

from sklearn.metrics import accuracy score

77 R1DPTY T R1EFRTES
254 BFRE(recall) & ¢ BEELH
5.
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R colabTRZA 7TH<T TV b

TrAI 0O X
1

colabDEEARIC 7+ LET A 2 % B B w
5095 LT, EhbIERD 7% b |
"R A THETIV N HETY Y » @@ sample_data

2.
MESRBIE N HE 2 DT "Google K74 7IZ#EHR 27V vy

D/ —KTvUICGoogle RKZATDT77AINADT IR EHFLEITH?

Google RS A JICERT 5E&. SO/ — Ry I TRITENCI—RICH L. PV EXENRDEE NS X T Google K517
RDOT77AILDEEZEFATZ I EICBRDET,

2% w7  Google K71 7IciEk:

R colabTFSA 7% b

+3d—K + 7*FXb

= Tr AL O Xx
3. Q G R ® v O[] 1#01-01. SKvr—:
<y b g B Edrive” 7 A LK D 3 2 Vbt i
{x} ;
. . ~ [ drive 44 ¥
EMEINTT—22RFLILEZAET o - e 5 import pandes as.
” o ” /= = Colab Notebook: 6 import matplotlib.f
BT, "X EIE—"HITS -f 7
i) _ 8 from palmerpengui
B new_penguins.csv
» @B Shareddrives Fuyn—R
» @B sample_data
77 AIBDEE
7 7LV EHIBR
XR%ZEIE—
B2 (

4.
pandas.read csvEfE > TT — X &G AIAH

new_penguins = pd.read csv('/content/drive/MyDrive/new penguins.csv')




